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3 11 KZE 8 () Pt 9,05.42 5 3
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5 20 B R (2) TiREA 9,15.08 5 5
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7 133 KA @\t (3) B 9,26.92 5 7
8 45 RE XK (3) BHR 9,27. 11 5 8
9 9 % L (3) ERILE 9,28.55 5 9
10 42 = hEE (2) Eq 7 iRER 9,30.78 5 10
11 43 AJIl K#h (1) Eq s R R 9,31.42 5 11
12 11 #7188 8K ) 1B FRILE 9,37.94 5 12
13 98 X8 HA—(2) R 9, 38.32 5 13
14 119 FK K&F(2) =R 9,41.45 5 14
15 10 3 B A (1) ERILE 9,43.22 4 1
16 66 RE %K (2) LiREA 9,44.39 4 2
17 127 Bl EX(2) 2R 9,44.92 5 15
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19 80 E42K BE(1) neg 9,45.39 4 3
20 99 Xk #1(1) L] 9, 46. 55 5 17
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27 61 Pl R (1) I 10, 00. 15 3 1
28 b8 RE & (2) X 10,01. 15 5 22
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18 64 tx3t Imm (1) me 10, 48. 96 2 14
19 110 E2 K BA(2) B H = [ 10, 52. 25 3 13
80 12 ¥1i8 #% (2) BRIL B 10,52.79 2 15
81 115 #RE TAE() BE 10, 54. 50 3 14
82 132 =i BXR(2) Hm 10, 55. 06 3 15
83 32 K #X(2) I 10, 59. 42 2 16
84 90 /g BEA() a1l 11,01. 41 1 2
85 51 Bt IR (2) 18 11,03.70 3 16
86 135 &)1l 48 (2) oo 11,04.18 1 3
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88 97 .t &3 (3) A 11,05. 34 3 17
89 82 i+ &= (1) e 11,05. 60 3 18
90 107 Al ZEER (1) Bt 11,08. 26 1 5
91 102 AAE &7 (2) $ARE 11,09. 22 3 19
92 26 1L 3EE(2) FEHRE 11,09.77 3.2
93 109 fnek E&C (2) R H S % 11,09.85 3 2
94 6 EE =B (2) FABRED 11,10.02 3 22
95 67 /R B (1) LiREA 11,12.18 1 6
96 83 5% K& Q) GiESS 11,13.35 1 1
97 95 H)II & (1) g 11,13.80 1 8
98 65 ¥ #HE (2) L3WE 11,14.92 1 9
99 125 &7 E— (1) SR 11,16.32 2 17
100 39 2l K& (2) =H 11,16.52 1..10
101 126 b % (2) SR 11,16. 64 3 23
102 8] R m (2) % 11,17.21 2 18
103 48 Fit =1— (1) 5 11,22. 44 2 19
104 50 x| (1) FELILHA 11,27.23 2 .2
105 113 AT EH(1) thH S 11,40. 94 1.1
106 86 7nH -5 (1) % 11,42.28 112
107 49 /it 28 (1) IR 11, 49.91 113
108 88 Jb#k HE (1) =% 11,50.79 114
109 68 F8F 43 (1) EimEn 11,53.23 115
110 21 5lR 52 (1) BBk 11,53. 80 2 21
1 4] shE EAE() R 11, 56. 80 116
112 69 7~ geAw (1) EEn 11,56.90 117
113 3 BT L) =H 11,57.53 118
114 24 Tt A (1) BBk 12,15.86 1..19




